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(D Subtract.

@5 - 1 = | ®ws - 2 = |
@9 - 2 =[] @1 - 3 =[ |

@ Subtract.
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® Draw the missing lines on the right to make the figure match the one
on the left.
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® When you subtract one of the numbers in the middle from the number
on the left, you get the difference on the right. Circle the correct number
in the middle.
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@ Putaf in the boxes provided that shows subtraction.

There are 6 rabbits in the field and
2 more rabbits come along.

There are 8 rabbits in all. o . ; -

There are 8 rabbits in the field and 2 of
them hop away. There are 6 rabbits lef

* i #E 5% TOPick & () Eye Level fi & ° EEERE

lamthe key. QR code °




